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Review fueshans fom Ch.B

Part 1 — No calculator
1. ldentify if a function is a polynomial or not.
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2. Given a polynomial equatlon identify the x-intercepts
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3. Identify the leading term, degree, orientation and end

behavior of a polynomial
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5. Given the number of real and imaginary roots, sketch possible

graphs. (@) 5 veal 1oTS and £ imaginary veovs
@ N complex and 2 veal

C) 7 esmplex and 2 rea.\  our degeee b

6. Simplify expressions with imaginary numbers
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2 — Calculator
7. Giventwo or thrge x — intercepts, write a possible

polynomial equation and convert it to standard form

&) X=5 X=-2

b) X=1 -2
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=3
8. Given roots and an additional point (perhaps via 2 graph),

determine an exact polynomial equation {showing work for

the stretch factor).
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Find all roots for a degree 2 polynomial

Y= x2—2x +9
10. Divide Polynomlals
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11. Find all roots for a' degree 3 polynomial ('5)1&.'.! app’:’c?ug)
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